
EXERCISE-1 

A
Q.1  
 

Q.2  
 

Q.3  
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Q.4  ? 
 

Q.5  
 

Q.6  1 
 

Q.7 l A 

 

Q.8 
 

Q.9 
 

Q.10 
 

Q.11 R1  R2

 

Q.12 R1  R2

B
Q.13 

? 
? 

 

Q.14 

Q.15 
? 

 

Q.16 

 

Q.17 
: 

(i) 
(ii) ? 

 

Q.18 
? 

 

Q.19 
? 

 

Q.20 

C
Q.21 

? 

Q.22 
? 

Q.23 



Q.24 

Q.25 

D
Q.26 1.6 × 10–19 C 

1 ? 
 
Q.27 1 

200 mA ? 
( , e = 1.6 × 10–19 C). 

 
Q.28 0.2A 30 

? 
( , e = 1.6 × 10–19 C.) 

 
Q.29 0.1 

2 
 
Q.30 12 , X 

4.8 X ? 
 
Q.31 12 

? 
 
Q.32 3 , 4  7 

3.5 
 ? 

 
Q.33 

20 
20 15

7V 

 
Q.34 (a) (b) 

(c) 30- 

6V 

1530

 
Q.35 

5V 

10
10

5 

 
Q.36 

3.0 A 10-
20-

10 A + –
20

 
Q.37 10 , 20  30  6-V 

(a) (b) 
(c) 

 
Q.38 

90 
, 20

 
Q.39 

3- 
 

12V

3
6

4 i1 i2 
i 



 
Q.40 (a) 4, 6  12 

8 
? 

(b) 

? 



EXERCISE-2 


Q.1 1 

1 A ?  
(A) 6.25 × 1018  (B) 6.25 × 1012 
(C) 6.25 × 1011 (D) 6.25  

Q.2 1  - 
(A) 1 × 1 
(B) 1  / 1 
(C) 1  × 1 
 (0) 1  / 1 

Q.3 
,  - 

(A) 
(B) 
(C) 
(D) 

Q.4 
,  - 

(A) 
(B) 
(C) 
(D) 

Q.5 
 - 

(A) V/C (B) C/m 
(C) N/C (D) C/N 

Q.6  - 
(A) 106A (B) 10–6A 
(B) 10–3A (D) 10mA 

Q.7 
? 

(A) (B) 
(C) (D) 

 
Q.8 I , 'e' 

t 
 - 

(A) t
Ie (B) e/It 

(C) It/e (D) Ite 

Q.9 , 
- 

(A) 
(B) 
(C) 
(D) 

Q.10 , 
,  - 
2A 1A

iA2A
(A) 1.7 A (B) 3.7 A 
(C) 13 A (D) 1.0 A 

Q.11 , 
 - 

(A) 
(B) 
(C) 
(D) 

Q.12  - 
(A) 
(B) 
(C) 
(D) 

Q.13  - 
(A) (B) 
(C) –1 (D) –1 



Q.14 R n 

- 
(A) nR (B) R/n 
(C) n/R (D) R/n2 

Q.15 4 
180° , 

, 
 - 

(A) 1  (B) 2  
(C) 5  (D) 8  

Q.16 8  

: 
(A) 12  (B) 2  
(C) 6  (D) 3

16

Q.17    100  

1  ? 
(A) 10 (B) 5 
(C) 100 (D) 50 

Q.18 
 - 

(A) 
(B) 
(C) 
(D) 

 
Q.19 1  

 - 
(A) 2

1 (B) 2  

(C) 4
1 (D) 4  

Q.20. , A  C 
 - 

A R D
R R

RB C

2R

(A) R2
3 (B) 6R 

(C) R3
2 (D) 3R 

Q.21 
 - 

(A) IR (B) IR2 
(C) I2R (D) IR

Q.22 

 - 
(A) 2 : 1 (B) 1 : 2 

  (C) 4 : 1 (D) 1 : 4 

Q.23 50  10 
1 30 

? 
(A) 15 (B) 150 
(C) 1500 (D) 15000 

Q.24 4A , 220 
V 

 - 
(A) 40 (B) 55 
(C) 100 (D) 

Q.25 
, 

- 
(A) (B) 
(C) (D) 



Q.26  - 
(A) (B) 
(C) (D) 

Q.27  - 
(A) 
(B) 
(C) 
(D) 

Q.28  - 
(A) (B) 
(C) (D) 

Q.29 
 - 

(A) 

(B) 
(C) 
(D) 

Q.30 (H) I 
 - 

(A) H  I (B) I
1H 

(C) 2IH   (D) 2I
1H 

Q.31 : 
(A) (B) 
(C) (D) 

Q.32 , - 
(A) (B) 

(C) (D) 

Q.33 - 
(A) (B) 
(C) (D) 

Q.34 - 
(A) (B) 
(C) (D) 

Q.35 
- 

(A) (B) 
(C) (D) 

Q.36 
- 

(A) 
(B) 
(C) 
(D) 

Q.37 - 
(A) 
(B) 
(C) 
(D) 

Q.38 
,  - 

(A) 
(B) 
(C) 
(D) 



ANSWER KEY
 

EXERCISE - 1 
D. : 

26. 6.25 × 1018
27. 7.5 × 1019
28. 6C, 3.75 × 1019
29. 0.05
30. 8
31. 12 
32. 3  4 7
33. 0.2A, 4V
34. (A) 10 (B) 0.6A (C) 0.2A
35. 0.5A
36. 2A, 1A
37. (A) 0.6 A, 0.3 A, 0.2 A (B) 1.1A (C)  5.5 

 
39. 1.33 A
40. (b) 22 2 

EXERCISE - 2 
Ques 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
Ans A A A D C A A C C A B D B D A

Ques 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30
Ans D A C D C C D B B D B B C B C

Ques 31 32 33 34 35 36 37 38
Ans A C B C D A A A




